


th-e A2H4F7HE ABC ol M AB 919 /B = /BCD 7t M=% A D
£ @ow AD = BD = D 9& 335hs H4olth. (7h~(oh o]
S0l Ylgo g U AL
A
D,
B [] ) C

=| (b | °|B& ABCD = o] 5 ¥4z o]t}

wtebA BD = | (4) | oIt

A7} ABC oA ZA+/B+90° = 180° |22 /A = 90°— /B
olt}.

/ACD + = /ACB A ZACB 7} 90° 0| B &

/ACD = 90° —| (2}) | oIt}

a9 B =] (7)) |o]B& /A = /ACD o]t}

w2hA] AACD & o] 54z go|n=2 AD = CD o|t}.

- BD = CD = AD o]t}

@ (7} :«ADC @ (1) : BC ® (th) : «/BDC
@ (2 : /BCD ® (1} : LABC



® 3 B 4 @ 5 B 6

D 2



ABC oA & O 7}t

O

17}
1

~H

N

U
ol o
™
M g
o~

wom

T

@ 75° 3) 80° @ 85° 3 90°

@D 70°



o3 I3 Zo]l AABCAA H O eAHelth. /OAC = 35°,
/OCB =30°Y o], zx 9] Z& L5toiat.

A
35°

30°

e
Q



A 0 = AABC 9] 9]4o]t}, /BOC = 120° ]2, AOBC 9] Ed¢]

2ol

+ 26cm, BC = 12cm € ©, /BAC = x° 0|1, OB += yem ©]2t
Rk xty O g Ftolet. (2, 99 A2

A
[>

120°

T--12cm- -



e oA A O &= AABC Y] o]t ACB =66°Y o /BAO
o] 2712

A

66’

@D 16° ® 20° B 24° @ 30° (B) 33°



g

S 12| AABC o4 H 0 & 2]4e]1 LAOB : .COA : /BOC =
:3:4 9 o, LABC 9] 27]E F5foizt,

A

Q



9.

@ ABEO = ACEO ® AF =CF

® OA=0B=0C @ (DAO = /DBO
® /FOA = /DOA



10. o 1¥olA A 0 7FAC, BC 9] Aol 524

717

@D 40°

@ 50°

E
O e}
35
RORANP
D \
® 60° @ 70°

B 80°



11.

A

OA =0C
..OB =0C

AOBE ¢} AOCE ©f|A]
OB= (1),

(BEO = /CEO = 90° ,
(E)=35dH

- AOBE = AOCE ( = &%)
~BE=(m1)

= OE & BC 9] &7 0o]%

>
>,
o
)

A 0 &= AB,AC 9] £Zlo]|5H Qo 9gloma OA

welA] 47k e) Al Me] o] SHAS 3 W O o A T,

@ L.
B o,

® 7. 0B
@ =. SSS




12, o J¥e /B Azl 424 IE} A Mo| aABC 9] €]4lo] 1
AB = 6cm, BC = 8cm, CA = 10cm € W], AMBC 2] {o]&=?

@ 10cm? @ 12cm? @ 13cm?

@® 15cm? ® 16cm?



13. o= I9o0M A M 2 22442 ABC 9 9J4o]al «C = 36° ¢
o, zx o 27]& Fstof=t

A

36 ™\~
\

D 15° @ 18° 3 20° @ 929° B 25°



the 2”9 A2z gollA 4 O = AC 9 THY o, 2x o] 2717

o>

T "B

ol

@D 32° ® 35° 3 38° @ 49° B 45°



15. oS 192 AABCOA H 0+ 24 oltt. /OAB = 35°, /OBC =
25°d o, ,CQ A7)=9

v
k)
Q

@D 40° ® 45° B 50° @ 5h° B 60°



16. o3 Z1&lA A O &= aABC o] 94D W, 2x - 2y 9] 271E 5}
ofzt,




17.

o= 2™elA & O = 2ABC 9] £jdeltt
LOAB = 25°, /OBC = 40° ¥ o, .C 2] 2
71e?

@ 45° @ 50° ® 55°

@ 60° ® 65°

252

40°

vs,

Q



18. th& 2804 A O € = 90°%) A7HI7k 9] sldlelet. AA0C
o] Wol7} 60 uf, BC 9] Holg F5}ofzt.




19. -2 793} ol A2zt ABC ] 9140] F 0% 1), AB 4+ AC —
12cm ©]™H /ABC 9] 37]=2?

A
\
O \
4cm
|
B C
@ 10° @ 20° @ 30°
@ 40° B o 29t}



20. 2 2HoA H 0= AABC2 &4o|a1, /AOB : /BOC : £COA =
3:4:54 o, 1x9] 272

A
T

@ 10° @ 15° ® 20° @ 25° ® 30°



